(Rl #E#%=0)

BREENIZEIT2HFMER - TMEEDEEXEFTTEE (5% 6 &EE)
( - xT) (St 6 %= 6 A 30 HBHE)
FEIGE el
a FME - BiEEE BERBKERSHER EREEHFMHEHFAL BERER (REHK) EREE (REMHERFSE)
iz L HA T8 =t L3 T8 5 L35 T Hf 5 L35 THHA
R4 o lmxe| & e | wxe | D e | D (sxe | |ona | D (one | 0§ (sna| ) (one| 0 (ona| | |ox2| ] i
iz ha 0 0 0 0 0 0 0 0 0 o| o 0 0 0
& | ATER ha 0 0 0 0 0 0| 2 0| 3 0| 5 0| 2 0| 3 0| 5 0
# R ha 0 0 0 0 0 0 0 0 0 ol o 0 0 0
=t 0 o| o 0 0 o| o 0 0 0 0 o| o 0 0 0 0 0 2 0 3 0| 5 0 2 o| 3 0 5 0
TXY ha 0 0 0 0 0 0 2 1 2 1 2 1 0 0 2 1
25ty ha 0 0 0 0 0 0 0 0 0 o| o 0 0 0
w5 ha 0 0 0 0 0 0 0 o o 0| o 0| o 0
glﬁ%& ha| 4 15 4 15 0 0 0 0 0 0 4 5| 0 0 4 5
RERME - REGAEK ha 0 0 0 0 0 0 0 0 0 ol o 0 0 0
=t 4 15 0 0 4 15| o0 0 0 0 0 o| o 0 0 0 0 0 2 1 0 o| 2 1 6 6| O 0 6 6
ha 0 0 0 0 0 0 0
F1 0 0 0 0
m3 0 0 0 0 0 0 0
*
7 - ha 0 0 0 0 0 0 0
E#ﬂ%l’aﬁﬁz 0 0 0 0
m3 0 0 0 0 0 0 0
23
i ha 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Hi 0 0 0 0 0 0 0 0 0 0 0 0
m3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BEERIEFER (S hRuh) ha 0 0 0 0 0 0 0 0 0 0
%
;D BECER ISR (F D) ha 0 0 0 0 0 0 0 0 0 0
th
FMEEE AR -BR) m 0 0 0 0 0 0 0 0 0 0

) 1 SM6E6AS0HBRENDRAATHY, ERORIRILFIELGIGEENH D, Tz, MIBEAICKYREOMEEELFITLTLL—ELAEL,
2 FEHBIFAR1ANS9A30H, THAIX10A1BNMSBREIAZT1HIZHKIEZTELTLDEETHD,
3EMEEDOHMEL, MEMKICOVTITRMMIE, ETHRICOVWTIIZIAME (EBEREIEMME THS.
4 A—MIETERDOEEE—ELTHRITIHENHY, BBOHEEROFK IGHMEELDIHENHD,
5 PRERZCEFNHEMEEZHETRIETIHELNHD,




